—ANH7T=

Bz | #EATR )
(AFA)

26|f@aH R 30.1
27|28 29.8
28| BEHRE 29.7

i 1R 29.7
0|A/F R 29.3
31 RRE 29.1
32| =R 28.8
BEFE 28.7

EAE 28.7
35|tARE 28.4

RER 28.4
& 28.3
B|RER 28.2
9FTRE 27.9

S 27.9
41|55 R 21.7
42|1=818 27.6
A3[HEE 21.5
44|10 1E 27.1
45| 2RI R 26.3
46| FERE 26.2
4TImER 24.8

e | e | A5
(FH)

1[ERE 37.9
2|eme 36.7
3|itmE 36
ey 35.7
5| £l 35.4
REAIR 35.4
TNEEER 35.2
S|ERER 35.1
9ILOR 34.7
10|/E &8 34.4
EER 34.4
12|1F)IE 34.2
13| KB AT 34
14]FE L8 33.9
15| =g 8 33.3
16| 5EE 32.9
17| = 32.7
FiEE 32.7
19[AIJIE 32.6
20(F 0L 32.2
21| BIRE 31.8
22| AR KT 31.6
23|FKEE 31.5
2418 1E 31.1
25| EER 30.8
S EFEY 30.7




